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Practice A

/28 Geometric Proof

Write the letter of the correct justification next to each step. J I \3
(Use one justification twice.) ;
Given: HJ is the bisector of ZIHK and £1 = /3, o

1. HJ is the bisector of ZIHK. |5 A. Definition of £ bisector

2. £2=/21 a B. Given

3. 21223 B C. Transitive Prop. of =

4, 22=23__ L

5. Ina_ 1w~ tolumn proof, each step in the proof is on the left and

the reason for the step is on the right.

Fill in the blanks with the justifications and steps listed to complete the
two-column proof. Use this list to complete the proof.

L= L2
Def. of straight £

Z1 and £2 are straight angles. \
6. Given: £1 and £2 are straight angles.
Prove: /1= /2 /g/

Proof:
Statements Reasons
fallandl2 Qe Stecughi (fnﬁl(é 1. Given .
2. mZ1 = 180°, m£2 = 180° 2.b. _def. of Shaightl's
3.ms1=mx2 3. Subst. Prop. of =
4.c. SRYE A 4.Def. of = 4

Follow the plan to fill in the blanks in the two-column proof.
7. Given: £1 and £2 form a linear pair, and
£3 and «£4 form a linear pair.
Prove: mZ1 + m£2 + m«£3 + m£4 = 360°
Plan: The Linear Pair Theorem shows that £1 and £2 are supplementary and
£3 and £4 are supplementary. The definition of supplementary says that
mZ1+mZ£2 =180° and m«£3 + m£4 = 180°. Use the Addition Property
of Equality to make the conclusion.

Statements Reasons
1. Z1 and £2 form a Iilnear pailr, and 1.0 (4\\« A
£3 and £4 form a linear pair. )

2. Z1 and £2 are supplementary, and ‘ P ;>
Z£3 and Z4 are supplementary. 2. b. L (N ava/ (iiy

3.C. ;-'\.')Li +m | = "&lz‘){.*
Ml 3+ mlYyY= 1§50

4.mZ1+mZ2 + M3+ mL4 = 360° 4.d. _Add pmp dp =

( hm .

3. Def. of supp. £
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Name Date Class
Practice B
Zall Geometric Proof
Write a justification for each step. - F
iy o
Given: AB = EF, B is the midpoint of AC, g ——""
and E is the midpoint of DF . AT
1. Bis the midpoint of AT, )
and E is the midpoint of DF . (J‘;l Ve in
2. ﬁs%,and DE =EF . {({'{ (‘-,1 ;‘m'{‘i l;‘(‘u\t
' /. > a o v ‘7.—
3. AB=BC, and DE = EF. def. ot congrvent
4. AB + BC = AC, and DE + EF = DF. Seq . add. pest
5. 2AB = AC, and 2EF = DF. Su Bituben POE
6. AB = EF (‘i‘ \W { - ((‘ F\( 1-'.,1 5 \
7. 2AB=2EF Mult. pPoec
PR S
8. AC=DF N0l S Por
9. AC=DF ({ e [ ¢ { £ ﬂgv LVeén=

Fill in the blanks to complete the two-column proof.
10. Given: £ZHKJ is a straight angle.

Ki bisects ZHKJ.
Prove: ZIKJ is a right angle.

Proof:

Statements Reasons
1.a._L HKT iSa aiGht dngle |1.Given
2. mZHKJ = 180° 2.b. _ e d{ of Shagindt L
3.c. KT wstds LHKT 3. Given
4. ZIKJ = ZIKH 4. Def, of £ bisector
5 mLIKd=msIKH 5. Def. of= 4
6.d._MLTET+ M LTYHT m/ HKT |6, £ Add. Post,
7. 2mZIKJ = 180° 7.e. Subst. (Steps 2 .S, b )
8. mZIKJ = 90° 8. Div. Prop. of =
9. ZIKJ is a right angle. o.f._clef ot right L
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Name (\ E\/ Date Class
Practice C

YA Geometric Proof

Write a two-column proof.

1. Given: The sum of the angle measures 3
in a triangle is 180°. A b
Prove: m£1=m4£3 + mz4 _ = 5o
SAette i S Tushficaton

= .o o . o ' €
Q) LA mL_o)‘i Y= ‘ g(_) 03 Cj \u‘e_r\

1 , e g 2) g\whtin
(D Ll and L2 are & & 9 g

[inear PAIT 6\ Lirwar pésl Ham
' 4
@) /laad L2 are suppl @ Ao f . ¢f &.;opl,

;\ _ o 0 _‘ [/ . . —_—
@ mel A mL2 =150 N cubstriwho~n FPOE
G mL2+mi3tmiY=miitml? =< i Pl
(G ol Jokm £ Soead] D) gy mmtae POE
) Mt = Mmestmiy 6-) CP

2. Peter drives on a straight road and stops at an intersection. The intersecting road

is also straight. Peter notices that one of the angles formed by the intersection is

a right angle. He concludes that the other three angles must also be right angles.
Draw a diagram and write a two-column proof to show that Peter is correct.

%
¥ 3
“*@ rﬂL“ng

Fu Shf caton

State me S 3 g ST i o { dz\ ”

: ‘ : \ 0 det-h —
CD £ [RYZ :-:‘5’11 t?ﬂdj(.c: (’) Q(VC”\ 1‘@) i 5}
@/ Ll andl2 art& [iné ecr P‘"‘"'_’C,&)QW‘“- ?l Qo° =1 .
i 2 anglt 2, arfda [(near per ‘ @, :;.leg ;

dndl Y are & liréar par

| _—
- e g 007 e "‘/[u ~ |
(3 LI eadt 2 art Soppl. @ Linear FUTTRNE gme
T /2 andl Sare Suf,opf. ‘ Gi,d’(\{c
- vntl

L Lanet ‘/2 “‘ﬂ;?i):’{f’P" @ UL? by of S u.pp{_
3 = 1§0°
fﬁ)()

(ED moe it aNa
mL2 t mL -
mel +meH?

@) m Li > R - O

© 9 - mL2=1§0

20° 4 ={¥a" \ v

i e 2”\(1%% 'nc,Ll'(fUG (D su bt Fak

1) MmLL=50" ¢ y DN 4. L '

(C@ L2 and LY cre right L's(®) ad. 0‘[”9ht ol |
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245@ gWen

(el of vevticel LS

5 def . of f”/‘(]"f“i’( . B
(© Subshhchon PO

rig
@\) Ll L3 are yertiall 'S
(o Jaz 13
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Name }’\ { \/ Date Class
Problem Solving

28 Geometric Proof
1. Refer to the diagram of the stained-glass window and use
the given plan to write a two-column proof.
Given: Z£1 and 43 are supplementary.
Z2 and Z4 are supplementary.
£3= /4
Prove: Z1=./2

Plan: Use the definition of supplementary angles to write
the given information in terms of angle measures.
Then use the Substitution Property of Equality and
the Subtraction Property of Equality to conclude
that £1 = £2.

{1\ A - 3 are 5prp‘. 0 glb;’ I~
L2, L4 are Supp)
(”) MLl mMLS- 'gt.::)t,;
ML+ med =180
N FME3 S rﬂtz +mwLl Y
é' L @ g¥en

D 3= @ def of =

@) dof (2 Cupp !

(3) Sub St PO

o
5 mL32me Y o LRE . PRE
) tmLd= me2t mey &/ Su LSt . |
(@ et (D >4 b, prop of Ec.
(ﬂ metl = mlZ s | P
Cg/) /L | "‘"A &) CLV‘( (Z)) f(f.-,’\gsr
g ~ /g

The position of a sprinter at the starting blocks is shown in the diagram.
Which statement can be proved using the given information? Choose the

best answer.
2. Given: £1 and Z4 are right angles. o
A £3=/5 C mZ£1+mz4=90° (

(B1=44 ) D ms3+ms5=180°

3 G;ven42 and Z3 are supplementary.
Z2 and £5 are supplementary.

(F £3= 2“5?_'/] H £3 and £5 are complementary.
G £2=/5 J Z1 and £2 are supplementary.
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Challenge

Y28 Prove It!

In a proof, you can often determine the Given information from the figure.

Write the information that is given in each figure. Then make a conjecture
about what you could prove using the given information

N

Guens L1 =1y LABC sa V‘fJML G #\‘}E EE B
Prove: /2 =/ 3 (answess Prove . EH ZE(
IY\rAtf V- rlj )
3. Write a two-column proof.
K g N
Given: ZKLM and ZNML are right angles.
£2=2/3
Prove: Z1=z/4 L‘2 34.&4
LKLM | ZNML are rghtl's 0 SRVAN
, /_KL'\'I ‘“Z\“"\(—— @) E‘(J{'\‘f L Thm.
- i A . =t
m LKLM = mLNML g S

L KLM =t 42 (@ anqgle add. post -

mLNML =mc 1Ml Y

mel tmeZ = e N PRLN
(C‘)/ (“ijfv\.__

. '_’—‘f:/;iéﬂ) C?{d{’(’,cgf—} -
mee ' 5> +mety (® Subst . Poé

(@) Subtr. PoE
(B oot ¢y =

meirime2 = Me
mL} = m(..’-f
/] Y
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